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	2017 Nov. New VMware 1V0-701 Exam Dumps with PDF and VCE Free Released Today! Following are some new 1V0-701

Questions:1.|2017 New 1V0-701 Exam Dumps (PDF & VCE) 55Q&As Download:https://www.braindump2go.com/1v0-701.html

2.|2017 New 1V0-701 Exam Questions & Answers Download:

https://drive.google.com/drive/folders/0B75b5xYLjSSNaW9DR0JmSVZCMGs?usp=sharing QUESTION 8What advantage does

VMware vSphere provide to an organization?A.    Decreased business efficiencyB.    Simplified data center monitoringC.    Lower

server availabilityD.    Increased data center efficiencyAnswer: DQUESTION 9Which three choices are design principles? (Choose

three.)A.    ManageabilityB.    ConstraintsC.    PerformanceD.    RequirementsE.    AvailabilityAnswer: ACDQUESTION 10Which

VMware solution provides the highest availability?A.    VMware Update ManagerB.    VMware vMotionC.    VMware vCenter HA

D.    VMware DRSAnswer: CExplanation:https://www.vmware.com/pdf/vmware_ha_wp.pdfQUESTION 11An architect is tasked

with working with the Line of Businesses to understand their requirements for monitoring. One Requirement is to analyze both

structured and unstructured data and provide 360-degree visibility for the cloud infrastructure.Which two vRealize Suit products

provide this functionality? (Choose two)A.    vRealize OrchestratorB.    vRealize Log insightC.    vRealize Operations ManagerD.   

vRealize AutomationE.    vRealize BusinessAnswer: BEExplanation:https://www.vmware.com/products/vrealize-operations.html

QUESTION 12Which technology enables the Just-in-time Delivery feature of Horizon 7 which ensures rapid deployment of

full-featured, personalized digital workspaces?A.    Instant ClonesB.    ThinAppC.    Blast ExtremeD.    Smart PoliciesAnswer: A

Explanation:Rapidly deploy full-featured, personalized digital workspaces leveraging JMP technologies, which include Instant

Clones, App Volumes and User Environment Management. Easily monitor performance, set up alerts and remediate issues to

improve the user experience.https://www.vmware.com/products/horizon.htmlQUESTION 13Drag and Drop QuestionMatch the

requirement to the appropriate VMware solution. A.    B.    C.    D.    Answer: QUESTION 14Drag and Drop QuestionEach edition

of vRealize Suite 7.0 is targeted at a specific initiative. Match the initiatives with the correct editions. A.    B.    C.    D.    Answer:

QUESTION 15Which is the main differentiator for VMware vSAN when compared to a Virtual Storage Appliance (VSA)?A.   

VMware vSAN is integrated into the ESXi Kernel.B.    VMware vSAN can be implemented with external storage.C.    VMware

vSAN is implemented as a virtual Appliance.D.    A VSA is tightly integrated with VMkernel.Answer: DExplanation:

https://blogs.vmware.com/vsphere/2013/08/comparing-vmware-vsa-vmware-virtual-san.htmlQUESTION 16What is the role of the

NSX Controller?A.    It provides network edge security and gateway services to isolate a virtualized network.B.    It is an advanced

distributed state management system that controls virtual networks and overlay transport tunnels.C.    It is a centralized network

management component of NSX.D.    It is software that operates in server hypervisors to form a software abstraction layer between

servers and the physical network.Answer: BExplanation:https://pubs.vmware.com/NSX-

6/index.jsp?topic=%2Fcom.vmware.nsx.admin.doc%2FGUID-69010816-CADD-4BEB-8915-8C8E2C044E0B.htmlQUESTION 17

How does the VMware Cross-Cloud Architecture address incompatibility between clouds?A.    VMware Cross-Cloud Architecture

does not address incompatibility between clouds.B.    By using network virtualization technology across clouds.C.    By replacing

public clouds.D.    By replacing private clouds.Answer: BQUESTION 18A company wants to implement a software-defined

network solution with minimal impact to the existing environment. What additional hardware, if any, is required when implementing

VMware NSX?A.    A stateful inspection Firewall to take advantage of NSX's built in Firewall protectionB.    None, NSX is a

completely non-disruptive solution.C.    Special VLAN configurations for accessing NSXD.    At least two Layer 3 switches that

must be converted to trunk modeAnswer: BExplanation:NSX is a completely non-disruptive solution which can be deployed on any

IP network from any vendor ?both existing traditional networking models and next generation fabric architectures. The physical

network infrastructure already in place is all that is required to deploy a software-defined data center with NSX. 

https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/products/nsx/vmw-nsx-network-virtualization-design-guide.

pdf!!!RECOMMEND!!!1.|2017 New 1V0-701 Exam Dumps (PDF & VCE) 55Q&As Download:

https://www.braindump2go.com/1v0-701.html2.|2017 New 1V0-701 Study Guide Video: YouTube Video: 

YouTube.com/watch?v=-uvxkwbMdLQ
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